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1. If A contains 10 elements then total number of functions (a) (—o0,00) (b) [-2,%)
defined from A to ﬁ) is . . (©) (-2.3) (d) (0,-2)
10 b d -
@ | )(( |) 2 (910 (@271 13. The domain of the function f(x)=vx - x? + V4 + x + 4 — x
2. If flx)= » then f(-1)= is
I x|
(a) 1 (b)-2 (©) 0 (d)2 (a) [-4,) (b) [-4,4]
3. If f(y)=logy,then f(v)+ f(—J is equal to
y 14. The domain of the function y/logk? - 6x +6) is
@2 ®1 ©0 (@-1 (a) (~0.) (b) (-03-B)U(3+3,0)
4. TIf flx)= logﬁ”ﬂ, then f{ ZXZ} is equal to (c) (~0,1]U[5,0) (d) [0, )
-X 1+x

2 3
(@) [£) (®) [f)] 15. The domain of definition of the function y(x) given by

(c) 2f(x) (d) 3f(x) .
2% +2Y =218
5. If f(x)= COS[7T2]X + cos [77r2]x, then (2) (0, 1] (b) [0, 1]
(a) f[%} =2 (b) f(-7)=2 (c) (~,0] (d) (==,])
16. The domain of the function f(x)= sin*1[1092 (x/2)] is
(c) flm)=1 (d) f(%) =-1 (a)[1,4] (b)[-4,1] (c)[-1,4] (d) None of these

17. The domain of the derivative of the function

6. If f:R— R satisfies f(x+y)=f(x)+fy), forall x,yeR A

f) tan™ x , |x|<1
n x)= 1 ]
and f(1)=7, then Zf(r) is §(|X|*1) L Ix>1 "
r=1
n 7(n+1) () R=1{0} (b) R=1l)
(@) % (b)— (¢) R—{-1} (d R-{-1 1
(c) Tnln+1) () n(n+1) 18. Domain of definition of the function
2 3 3 .
flx)= 5 +logio(x” - x), is
£(x) = 1 . 1 for x> 2 1h 4 —x
T ferovzx-a x-2/ox_a O 7% e (@ (1,2) (b) (1,0) U (1,2)
£(11) = ©(1L,2)uE, ») @ELO)UM2)U(E,
7 5 6 5 19. The domain of the function f(x)= ]og3+x(x2 -1) is
@¢ b)¢ ©= (D=
(a) (=3,-1)u(l,x)
1
8. Domain of the function 2—1 is (b) [B,=1) L)
. - Tod (©) (32 u(-2-1)u(l,x)
(@) (~0,—1)U(l,0) (b) (=o0,—1] U (L,) () [-3-20(-2-1) U[L ]
(c) (~o,=1)U[l, ) (d) None of these
1 20. Domain of definition of the function f(x)= ‘{sin_1 (2x) + z ,
9. The domain of the function J(¥) = m is 6
for real value X, is
(a) R* (®) R~ (c) Ko (d R 11 11
. . y logy (x +3) @ [_Z 5} ®) [_5’5}
10. Find the domain of definition of f(x) = —————
x“+3x+2 11 11
(a) (-3,) (b){-1,-2) ©) (_E ! 6) (d) {_ Z’Z}
-3,00)—{-1,-2 —o0, 2
() () =4 ' (&) () 21. The range of the function f(x)= |i:2| is
11. The domain of the function f(x) = /(2 - 2x — x?) is
(a) {0, 1} (b) {-1, 1}
(a) —3<x<43 (b) —1-y3<x<-1+43 (©) R (d) R—{-2}
() 2<x<2 (d) None of these . .
12. If the domain of function f(x) = x2 —6x +7is (2.) , then |22+ Therangeof fx) = Se{z o8 ) TrsXsIs
the range of function is (a) [L J2] (b) [1,00)
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

(©) [-V2,-1JU1,42] (d) (~o0,—1]U[1,00)

2
Range of the function f(x)= x2+—x+2;x eRis
x“+x+1
(a) (L) (b) 1L,11/7) (c) (L,7/3] (d) (L,7/5]

Function f:N — N,f(x)=2x+3 is
(a) One-one onto (b) One-one into

(c) Many-one onto (d) Many - one into

The function f:R — R defined by f(x) = (x —1)(x - 2)(x - 3)
is

(a) One-one but not onto (b) Onto but not one-one
(c) Both one-one and onto (d) Neither one-one nor onto
Find number of surjection from A to B where

A={1,23,4}, B={a,b}

(a) 13 (b) 14 (c) 15 (d) 16

If A ={a,b,c}, then total number of one-one onto functions
which can be defined from A to A is

(a3 (b)4 ©9 (d)6

If f:R—>R, then f(x)=|x] is

(a) One-one but not onto (b) Onto but not one-one

(c) One-one and onto (d) None of these

Let f:R— R be a function defined by f(x) = % where

m#n. Then

(a) f is one-one onto (b) fis one-one into

(c) f is many one onto (d) fis many one into

The function f:R — R defined by f(x)=e* is

(a) Onto (b) Many-one

(c) One-one and into  (d) Many one and ont

A function f from the set of natural numbers to integers

n-1 ,whennisodd
defined by f(n)= ,is

o whenniseven

(a) One-one but not onto

(b) Onto but not one-one

(c) One-one and onto both
(d) Neither one-one nor onto

Which of the following is an even function
a“-1
t
(a) x[ax+1] (b) tanx
a*—a* a*+1
c d
) = @ £

Let f(x)=4x*+15, then the graph of the function v = f(x) is

symmetrical about

(a) The x-axis (b) The y-axis

(c) The origin (d) The line X =Y

If f:R—>Rf(x)=(x+1? and g:R — R,g(x)=x?+1, then
(fog)(-3) is equal to

(a) 121 (b) 144 () 112 (d) 11

36.

37.

38.

39.

40.

41.

42.

43.

44.

f(x) = sin® x +sin’ [x + g) + cos X cos(x + gj and g(%) =1,th¢

(gof)(x) is equal to

(a) 1 (b) -1 (©)2 (d)-2
If ()= x* +x-2 and (gof)(x) = 2x° ~5x+2, then f{x
is equal to
(@) 2x-3 (b) 2x+3
(€) 2x? +3x+1 (d) 2x*-3x-1
flv) === gly) = —2—. i
If W W then (fog)(y) is equal to
v v
@ -y ® Ty
g =¥
(©y (d) it
-1, x<O
Let g(x)=1+x~-I[x] and f(x)=40, x=0,then forall x,
1, x>0
f(g(x)) is equal to
(a) x (b) 1 ©) fx) )
g(x)
If f(x)= gx+1 o (fof)(2) is equal to
3x-2’
(a) 1 (b)3 (c)4 (d)2

If f:R—>R and g:R— R are given by f(x)=|x|and
g(x) =[x] for each x €R, then {x € R: g(f(x)) <f(g(x))} =
(a) ZUl(-0,0) (b) (~=,0) ©Z ()R

If f:R—>R isgivenby f(x)=3x-5, then f(x)

. 1
(a) Is given by 3% 5

(b) Is given by ’%5

(c) Does not exist because f is not one-one
(d) Does not exist because f is not onto
Let f:R — R be defined by f(x)=3x-4, then f?(x) is

(a) 3x+4 (b) %X_A,

© %(x+ a) (d) %(x—ll)

Let f: R — R be any function. Define g : R —» R by g(x)

= |f(x)| for all x. Then g is (2000 S)

(a) Onto if f'is onto

(b) One-one if f is one-one

(c) Continuous if f'is continuous

(d) Differentiable if f is differentiable.

The domain of definition of the function f(x) given by the
equation 2* +2¥ =2 is

(a)0<x<1 (b)0<x<l1
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() —0<x<0 (d) —o<x<1
-1, x < O
45. Letg(x)=1+x—[x]and f(x} O, x = O=.Then for

, x >0

all x, f(g(x)) is equal to (2001 S)
(a) x ®1  (9fx) (d) g(x)

46. If fi[1, 0) —» [2, ) is given by f(x) = x + 1 then f!(x)
b 4

equals

o -4 @ (144 -4

(a)

2
) . log,(x+3) |
47. The domain of definition of f{(x) —5—————1is
X“+3x+2
(a) R/{-1, -2} (b) (=2, )
(c) R/{-1,-2, -3} (d) (=3, 0)/{-1, -2}

48. Let E= {1, 2, 3,4} and F = {1, 2}. Then the number of onto
functions from E to Fis (2001 S)
(a)14 (b) 16 (c) 12 (d)8

49. Let A = {Xy, Xppeeeee- X} B={V1, Y2 eerveen V) then total number
of functions f: A — B is equal to
(a)n™ (b) m" (c) m! (d)n!

50. Inn(A)=m & n(B)=n, total number of one-one functions f: A
— Bisequal to
(a)"P, (b)"Cgy (c) n! (d) m!
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